Trig Ratio:
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Solve for ¢

Jr.net
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sin(6) = 0 5.0° < 0 < 360°
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cos(0) = —T,OO <6 < 360°
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https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=%255CLarge%2520%255Ccolor%257Bred%257D%2520sin(%255Ctheta)%253D0.5%252C%25200%255Cdegree%255Cleq%255Ctheta%253C360%255Cdegree%250
https://www.codecogs.com/eqnedit.php?latex=cos(%255Ctheta)%253D-%255Cfrac%2520%257B%255Csqrt%25203%257D%257B2%257D%2520%252C%25200%255Cdegree%2520%255Cleq%2520%255Ctheta%2520%253C%2520360%2520%255Cdegree%250

You try:

Solve for 6:

1
sin() = ——=,0° < 6 < 360°
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Determine ¢ to the nearest tenth of a degree given that

cos(0) = —0.6753
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https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%253D-%255Cfrac%25201%257B%255Csqrt%25202%257D%252C%25200%2520%255Cdegree%2520%255Cleq%2520%255Ctheta%2520%253C%2520360%2520%255Cdegree%250
https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=cos(%255Ctheta)%253D-0.6753%250

Determine ¢ to the nearest tenth of a degree given that
sin(f) = —0.8090
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Suppose ¢ is an angle in standard position with terminal arm in Q3,

1
and tan(0) = 5. Determine the exact values of sin(¢) and cos(0),
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https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%253D-0.8090%250
https://www.codecogs.com/eqnedit.php?latex=%255Ctheta%250
https://www.codecogs.com/eqnedit.php?latex=tan(%255Ctheta)%253D%255Cfrac15%250
https://www.codecogs.com/eqnedit.php?latex=sin(%255Ctheta)%2520%255Ctext%257B%2520and%2520%257D%2520cos(%255Ctheta)%250
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